ERVA=7

7020 7030 7040 W50 ZW80
A 4 ® 7 NV 4
R4y AT BRAWEE (&) B ® # -3 e fi&
TP URE | oV REERE
NATARY T min? | 2600~2735 | 2350~2450 | 2350~2450 | 240050 | 2350+50
wu—74 KV min? | 1050~1200 | 900~1000 | 900~1000 | 950=50 110050
(& H K R §®) (5084 £) (5084 ) (5084 1) 508k 50 PA b
(Ve & wh 1]) () (50=5) (50=5) (50+5) (50+5) (50+5)
ES S - S
WEFH AR mm [0.145~0.185 0.18~0.22 | 0.18~0.22 | 0.18~0.122 | 0.13~0.17
v PR AXM mm o [0.145~0.185  0.18~0.22 | 0.18~0.22 | 0.18~0.122 | 0.13~0.17
W € % ) (T pe) (TR () (F TR (W)
D FEMEHE ) X MPa | 2.8~3.2 | 2.9~3.2 | 2.9~3.2 | 2.9~3.2 3.92
KRR AL 2 Kg/cm? 29~33 30~33 30~33 30~33 400
o (# 7k IR) C) (EHg%) (%) (Bt i%) (M%) (A1)
(] & ) (min™) (250) (250~270) | (250~270) | (250~270) (250)
OB % E|EH Avo MPa | 13.8~14.7 18.6 18.6 18.6 18. 6~19. 6
PREHEI B AR ) kg/cn? | 140~150 190 190 190 190~200
woH % E| V7 UEEVEOREY | m 10 7~9 7~9 7~9 7~9
U 2 o Al [kel {10] [6~7] [6~7] [10] [10]
A ¥EJE| 7ry by —b KPa 200 215 235 235 240
kg/cm’ 2.0 2.19 2. 40 2. 40 2.4
e V¥R L= KPa 200 215 235 235 240
7 kg/cm? 2.0 2.19 2. 40 2. 40 2.4
s | R4 =Ty [ vay bRy — Nem | 273~300 | 375~412 | 375~412 | 375~412 | 494~604
= ;%mﬁw% kg'm | 27.8~30.6 | 38.3~42.1 | 38.3~42. 1 | 38.3~42.1 | 50. 4~61.6
T v -
5 U¥ R4 — Nem | 273~300 | 375~412 | 375~412 | 375~412 | 494~604
keg'm | 27.8~30.6 | 38.3~42.1 | 38.3~42. 1 | 38.3~42. 1 | 50. 4~61.6
wm| v F V| EEFOES mm 20~40 20~40 20~40 20~40 20~40
) 7—zoar— PUEY R I3 42 41 41 41 40
wl b HOE
& NU—=AF77 | V) —=T7%y bE MPa 17.2 17.2 17.2 17.2 23.6+0.5
Voo s ERE kg/cm* 175 175 175 175 240+5
ETT L —F | RNV OB nm 10 10 10 10 10
i EE B D 1% m 160 160 160 160 115
&)
s e mEN 5 5 5 5 5
[l By REE ] km/h [15] [15] [15] [15 [15]
=
BE#E 7 L —% (F1k e RE AR 1/5 1/5 1/5 1/6 1/5
[BnnikEE] [ 4] [E:3) (4] [ 4] [4%]
16—

790 ZW100 70120 70140 70150
i # E-S i
255050 | 223050 | 2230450 | 2310+25 = 2310+25
110050 | 930+25 930+25 900+25 900+25
50 KLk GOLAE) (| (BOLLLE) | (50°CLAL) | (BOCLAE)
(50+5) (50%10) (50%10) (50+5) (50+5)
0.13~0.17 | 0.23~0.27 | 0.23~0.27 0. 254 0. 254
0.13~0.17 | 0.23~0.27 | 0.23~0.27 0. 508 0. 508
(#REIR) (TR (AR (> FEIP) (IR
3.92 3.09~3.29 | 3.09~3. 29 - —
400 31.5~33,5 | 31,5~33.5 - -
(TEA) (BEHt%) (REHEE) -
(250) (200) (200) - -
18.6~19.6 | /W IE-N aE TES V-
190~200
7~9 10 10 8~12 8~12
[10] [10] [10] [10] [10]
240 235 216 350 325
2.4 2.4 2.2 3.6 3.31
240 235 216 350 325
2.4 2.4. 2.2 3.6 3.31
494~604 890 890 890 890
50, 4~61. 6 89 89 91 91
494~604 890 890 89 89
50. 4~61. 6 89 89 91 91
20~40 5~15 5~15 5~15 5~15
40 40 10 40 40
23.6+0.5 17.2 17.2 19.6 19.6
240+5 175 175 200 200
10 0~5 0~5 0~5 0~5
105 - - - -
5 5 5 14 14
[15] (20) (20) [35] [35]
1/5 1/5 1/5 1/5 1/5
() [E] [#] (%] (4]
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A ST

720 7030 ZW40 2050 7080
il o] T 7 N 4
K5 BEEAT BREHER (M) AL ® = #*® # &
RIbLTA =2 mm — — — — —
TEM
N NYAE=S mm - - — — —
FZa
|7 —s
R gpst) | FA =T OES mn - - - -
>
v Ay Tr—hFEHT | Nem - - - —
B rvz kg-m
x ‘ = T4 R DEX mm 2.1~2.25 | 2.1~2.25 | 2.1~2.25 2.25 1.2~2.6
1 TR
TL—%
) |ty FOR& mm — — — — —
| )
" K2
[ RIRETA =2 mm — — — — —
£ GEn |rem
VIS s o 2.1~2.25  2.1~2.25 | 2.1~2.25 2.25 1.2~2.25
Lziox TAR70mE ™ Gy BTV | BTV | EHT7Y | BT
2= =) | —FFA) | XA | XA | —FFA
Y U HF DT mm/min 6/5 3/5 3/5 3/5 8/5
B AT R N7y b~OAR] Ecy:al (4] 3 (4] (4] (4]
[fE B W iE] (°C) (50+5) (50L5) (50=5) (50%£5) (50£5)
f Sk wn/min | 11/5 B /5 8/5
[y b~DAT] Ecxial [£] [4%] [48%]
(e B W iR] (°C) (50=10) (50£5) (50%5)
w 1 3 8 3R BE | 7 — i sec 4.6+0.5 | 5.0+0.4 | 5.0%0.4 | 5.0%0.4 5.0+0.5
N7y b~oAR] | [FE [4%] [fE] [%] (4] (4]
. [E & M iE) (©) (50=5) (50=5) (50£5) (50£5) (50+5)
= Ny MEL sec 1.0=0.3 1.0+0.3 1.0%0.3 1.0%£0.3 1.0%£0.3
[y b~ DA FE] [#&] (4] (4] [#%] ]
= [1F &) 3 IR] (C) (50+5) (50+5) (50+5) (50=%5) (50=5)
Ry MRS sec 1.3%0.3 1.5+0.3 1.5=0.3 1.5%0.3 1.3£0.3
Ty b DA [ [4#] [4E] ki3l [4#] [4E]
[E 8 i ] (°C) (50+5) (50+5) (50=5) (50£5) (50£5)
| TEOE B% ERIERREEE ST MPa | 20.6+1.0 | 20.6=1.0 | 20.6=1.0 | 20.6=1.0 | 20.6%0.5
£ kg/cm® | 210£10 210=10 21010 210£10 210+5
%5 [fF & W &l (©) (50%5) (50=5) (50%5) (50=5) (50=£5)
fif
/‘l;

K BEHEAEEE KT,

—18—

790 ZW100 70120 ZW140 ZW150
[ o P i
4.3 6.2 6.2 HET 2 HHET 2
HEABRRA 6.2 | EHRM6.2
43 2.47 2.47 HHE2 5 | HME25
(_%af% ,{) AR 2. 2 | IR 2.2
8/5 15/5 15/5 45/5 45/5
[4%] (4] [#] [4] (4]
(50=5) (50=£10) (50£10) (50£5) (50£5)
8/5 10/5 10/5 15/5 15/5
(4] 4] [E:3 [4#] (4]
(50=£5) (50£10) (50£10) (50£5) (50+£5)
5.0%0.5 | 5.0+0.3 | 50%0.3 | 6.0£0.3 | 6.7+0.3
(%] 4] [E:3 [ 4] [4E]
(50=£5) (50=10) (50=+10) (50=5) (50%5)
1.0£0.3 | 1.5+0.3 | 1.8%0.3 | 1.3=0.3 | 1.4%+0.3
(4] [4%] (] [#] [4E]
(50%5) (50£10) (50£10) (50=5) (50+5)
1.3+0.3 | 1.0+0.3 | 1.2+0.3 - —
[#] [#] [ 4] - -
(50=+5) (50+10) (50£10) — -
20.6%0.5 20.6 20.6 20.6 20.6
210%£5 210 210 210 210
(50+5) (50+10) (50=10) (50+10) (50=10)
|
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